
Spare parts list

IntelliDose

Edition: V1.08/2024



Table of contents

Page 2 / 711.11.2024 Edition: V1.08/2024

TASKI IntelliDose_1           3
Dosing Unit           4
Attaching Parts           6



TASKI IntelliDose_1

Page 3 / 711.11.2024 Edition: V1.08/2024

Description

Dosing Unit

Attaching Parts



Dosing Unit

Page 4 / 711.11.2024 Edition: V1.08/2024



Dosing Unit

Page 5 / 711.11.2024 Edition: V1.08/2024

Article no. Description Quantity Unit

4127307 Housing compl 1 PC

1208758 Cartridge 150ml Norprene 6/6mm 5oz DET 1 PC

4128537 Gear motor 50T compl 1 PC

4127178 Cover 1 PC

4127308 Flowmeter compl 1 PC

4127169 Flowmeter 1 PC

4130411 Filter compl 1 PC

4127930 Angle flange 2 PC

4128841 Nippel set 1 PC

4128830 T-nipple 12-6-12 1 PC

4122625 Hose 5/9 PVC 0,08 M

4066380 Check valve 1 PC

4129114 Cover 1 PC

4104790 Filter 1 PC

4127943 Label IntelliDose 1 PC

1207324 Spigot Plate Assy + Pouch Support 1 PC



Attaching Parts

Page 6 / 711.11.2024 Edition: V1.08/2024



Attaching Parts

Page 7 / 711.11.2024 Edition: V1.08/2024

Article no. Description Quantity Unit used for

4127947 Plate 1 PC 7516241 - IntelliDose
swingo 2500-3500

4127179 Intermediate part 1 PC

4019430 Raised cheese hd.screw
M4x8

4 PC 7516241 - IntelliDose
swingo 2500-3500

4007440 Washer 4,3/ 9x0,8 4 PC 7516241 - IntelliDose
swingo 2500-3500

4122641 Screw delta PT Torx
40x16

2 PC 7516241 - IntelliDose
swingo 2500-3500

4127954 Support 1 PC 7516241 - IntelliDose
swingo 2500-3500

4073650 Raised cheese hd.screw
M5x12

2 PC 7516241 - IntelliDose
swingo 2500-3500

4132304 Hose 2,5/4 PA 0,4 M

4108260 Pressure switch 1 PC 7516242 - IntelliDose
swingo XP

4130057 Cover 1 PC 7518212 - IntelliDose
swingo 4000/5000

4130051 Angle bracket 1 PC 7518212 - IntelliDose
swingo 4000/5000

4130058 Cover 1 PC 7518212 - IntelliDose
swingo 4000/5000

4019410 Socket head cap screw
M5x8

2 PC 7518212 - IntelliDose
swingo 4000/5000

4107130 Thread form screw torx
M5x12

4 PC 7518212 - IntelliDose
swingo 4000/5000

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

	Table of contents
	TASKI IntelliDose_1
	Dosing Unit
	Attaching Parts


